H & 0 & AF &2 &E Al A
2018HE FEZY 015 SSAE 14 ~ 4 X LoralH
SN DEHHD
Ha: HelotD OFE MNDNEHY PE(2SLNS/HERE - 28SIIH)

CHel: BASN DNESHI I (9 d
2AH -3 -H(3H) - RN - BES Of] Ak oH JEH HlusZ
DEHF 438,380 418,867 19,513

=2 19,513 0 19,513
= 418,867 418,867 0
W2l oG MIDNSHY PR(LSLNS/HED 146,763 127,250 19,513
£ - 28S0IE)
=2 19,513 0 19,513
7 127,250 127,250 0
BAMSN DNESHIGEAN 19,513 0 19,513
=2 19,513 0 19,513
UHEADSAD BN MEHEA L HH(JA) 11,513 0 11,513
= 11,513 0 11,513
101 2121y 10,699 0 10,699
=2 10,699 0 10,699
04 JIARZERNELS 10,699 0 10,699
=2 10,699 0 10,699
COREIESPY 10,699 0 10,699
=2 10,699 0 10,699
OREN DEAD AKX AEHTALR QO

2l 10,699 0 10,699
-~UB(FHE) 60,2402 x8 x20Y 9,639 0 9,639
=2 9,639 0 9,639
- =AYl 6,0008 *8% * 17 816 0 816
=2 816 0 816
-nEe8R 1,204,800 %82 *1.5% 145 0 145
= 145 0 145
—AEE R 1,204,8002 8% +1.021% 99 0 99
= 99 0 99
201 g2y 814 0 814
=2 814 0 814
01 Ar2 eyl 814 0 814
= 814 0 814
® 2+E1% 814 0 814
= 814 0 814
OXEIN EXZ0l HE S22 MR 814 0 814
=2 814 0 814
THEADEAD BN MEHEA L HHl (=) 8,000 0 8,000
= 8,000 0 8,000
401 AlEBILSH 8,000 0 8,000
=2 8,000 0 8,000
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